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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00] 000 ~ 652 82.21] #huls 000 ~ 652| 1.88 9.50 ZThLLSE 1.00] 500 ~ 806 82.21| Zhuls | 500 ~ 8.06| 1.88 9.50
9 100kN/mM#%#BZ % 1.00/ 000 ~ 0.38 105.56|3mZi#BZDH| - ~ = - -| 100kN/MZE#B 2% 1.00/ 11.13 ~ 1235 105.56|3m%i#B% % al ~ - - -
Zh st 1.00[038 ~ 8.16 100.00] #h st | 000 ~ 8.16] 2.03 10.28 Zh LS 1.00|] 500 ~ 11.13 100.00| Zh it | 500 ~ 1235 2.03 10.28
3 100kN/mM##8Z % 1.00/ 000 ~ 067 109.90|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.61 ~ 15.85 109.90|3m%i#BZ % = ~ = = =
Zh st 1.00[067 ~ 845 100.00] Zh st | 000 ~ 845 2.10 10.62 Zh LS 1.00| 500 ~ 1261 100.00| #h it | 500 ~ 15.85| 2.10 10.62
4 100kN/mM#%# 8% % 1.00/ 0.00 ~ 087 113.02|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.60 ~ 17.15 113.02|3m%#B% 5 = ~ = = =
Zh st 1.00[087 ~ 865 100.00] #h st | 000 ~ 865 2.10 10.62 Zh LS 1.00| 500 ~ 12.60 100.00| Zh st | 500 ~ 17.15] 2.10 10.62
5 100kN/mM#%# 8% % 1.00/ 000 ~ 1.23 118.59|3mZzi#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 1239 ~ 19.44 118.59|3m%i#BZ % = ~ = = =
Zh st 1.00[{123 ~ 9.01 100.00] #hlist | 000 ~ 901 2.11 10.67 Zh LS 1.00] 500 ~ 12.39 100.00| Zh it | 500 ~ 19.44| 2.11 10.67
6 100kN/mM#%#BZ % 1.00/ 000 ~ 205 131.77|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.68 ~ 19.45 131.77|3m%#B% % = ~ = = =
Zh st 1.00[2.05 ~ 9384 100.00] #hlist | 000 ~ 9.84] 229 11.56 Zh LS 1.00|] 500 ~ 10.68 100.00| Zh it | 500 ~ 19.45| 229 11.56
7 100kN/mM#%# 8% % 1.00/ 000 ~ 1.86 128.56|3mZ#BZDH| - ~ = = -| 100kN/iZi#8 % % 1.00| 1055 ~ 17.49 128.56|3m%i#BZ% = ~ = = =
Lot 1.00] 1.86 ~ 9.64 100.00] Zh L5t | 0.00 ~ 9.64] 2.16 10.89 Zh st 1.00f 5.00 ~ 10.55 100.00f Z1List | 500 ~ 1749 2.16 10.89
8 100kN/mM##BZ 5 1.00{0.00 ~ 1.16 117.54|3m%EHB %% -~ = = -| 100kN/MZE#BZ % 1.00| 12.61 ~ 19.50 117.54|3m%EB %% = ~ = = =
ZnLst 1.00]1.16 ~ 8.95 100.00] Zh st | 0.00 ~ 8.95] 2.10 10.62 Zhn st 1.00f 500 ~ 1261 100.00f Z1List | 500 ~ 1950 2.10 10.62
9 100kN/mM##BZ % 1.00{0.00 ~ 1.08 116.25|3m%H8 %% -~ = = -| 100kN/ %8z % 1.00| 12.66 ~ 18.90 116.25|3m%EB %% = ~ = = =
Zrn Lot 1.00] 1.08 ~ 8.86 100.00] Zh List | 0.00 ~ 8.86] 2.10 10.61 st 1.00f 500 ~ 12.66 100.00f Z1List | 500 ~ 18.90f 2.10 10.61
10 100kN/mM##BZ % 1.00{0.00 ~ 0.81 112.09|3m%EHE %% -~ = = -| 100kN/ %z % 1.00| 11.86 ~ 14.46 112.09|3m%E# %% = ~ = = =
ZnLst 1.00] 0.81 ~ 859 100.00] Zh L5t | 0.00 ~ 8.59| 2.46 12.44 Zh st 1.00f 500 ~ 11.86 100.00f Z1List | 500 ~ 1446 2.46 12.44
11 100kN/mM##BZ 5 1.00{0.00 ~ 1.23 118.61|3m%EE %% -~ = = -| 100kN/MZE#BZ % 1.00| 10.65 ~ 14.46 118.61|3m%E#B %% = ~ = = =
ZnLst 1.00] 1.23 ~ 9.02 100.00| ZhList |0.00 ~ 9.02] 2.27 11.45 Zhn st 1.00f 5.00 ~ 10.65 100.00f Z1List | 500 ~ 14.46| 2.27 11.45
12 100kN/mM##BZ % 1.00{0.00 ~ 138 121.01|3m%EHE %% -~ = = -| 100kN/ %8z % 1.00| 10.67 ~ 15.58 121.01|3m%E# 2% = ~ = = =
Zhn Lot 1.00]1.38 ~ 9.17 100.00] Zn st 000 ~ 9.17] 2.11 10.65 Zzh st 1.00f 5.00 ~ 10.67 100.00f Z1list | 500 ~ 1558 2.11 10.65
13 100kN/mM%#EZ % = -~ = -|3mEEZD -~ = = —| 100kN/ %8z 5 = -~ = -|3mZEiEZ 5 -~ = = =
Zn Lot 1.00] 0.00 ~ 6.74 85.17| ZnList | 000 ~ 6.74] 1.63 8.23 Zh Lot 1.00f 500 ~ 8.60 85.17| #n i | 500 ~ 8.60| 1.63 8.23
14 100kN/mM%#EZ % = -~ = -|3mEEZD -~ = = —| 100kN/ %8z 5 = -~ = -|3mZEiEZ S -~ = = =
Zhn Lot 1.00{ 0.00 ~ 553 69.08] ZnList | 000 ~ 553] 1.57 7.95 Zh Lot 1.00f 500 ~ 6.58 69.08] #nLis | 500 ~ 6.58| 1.57 7.95
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~




